

A Mathematical Review on Generalized Hypergeometric Differential Equation Including ${}_3F_2$ Type Function

Dr. Surendra Kumar Shrivastava¹, Jyoti Ratlia²
 Assistant Professor, Jayoti Vidyapeeth Women's University¹
 Research Scholar, Jayoti Vidyapeeth Women's University²
 Rajasthan, India

ABSTRACT- The present paper is a review on generalized hypergeometric function. In this paper we have discussed about Frobenius method on various types on differential equation of hypergeometric function such as Confluent hypergeometric function, Gauss hypergeometric function, ${}_3F_2$ type hypergeometric function, generalized hypergeometric function and obtain the solution of these kinds of differential equations.

Keywords: Regular points, Confluent hypergeometric function, Gauss hypergeometric function, generalized hypergeometric function, Frobenius method.

1. INTRODUCTION

The Confluent hypergeometric function is defined by Kummer in 1837 as a solution of second order linear differential equation such that [3]

$$z \frac{d^2 w}{dz^2} + (b - z) \frac{dw}{dz} - aw = 0 \quad (1.1)$$

Where a, b are real constants and z is independent variable. $z = 0$ is the regular point.

The Gauss hypergeometric function is defined as a solution of second order linear differential equation such that [4]

$$z(1-z) \frac{d^2 w}{dz^2} + \{c - (a+b+1)z\} \frac{dw}{dz} - abw = 0 \quad (1.2)$$

Where $a, b, c \in \mathbb{C}$ and $z = 0, 1$ are the regular points of (1.2).

Hypergeometric differential equation for ${}_3F_2$ is defined as

$$z^2(1-z) \frac{d^3 w}{dz^3} + [(b_1 + b_2 + 1) - (a_1 + a_2 + a_3 + 3)z] z \frac{d^2 w}{dz^2} + [b_1 b_2 - (a_1 a_2 + a_2 a_3 + a_1 a_3 + a_1 + a_2 + a_3 + 1)z] \frac{dw}{dz} - a_1 a_2 a_3 w = 0 \quad (1.3)$$

The generalized hypergeometric differential equation is defined as [6]

$$\theta(\theta + b_1 - 1)(\theta + b_2 - 1) \dots (\theta + b_q - 1) w = z(\theta + a_1)(\theta + a_2) \dots (\theta + a_p) w \quad (1.4)$$

Where $\theta = z \frac{d}{dz}$ is the differential operator and a_p, b_q are constant. $z = 0, 1$ are regular point of (1.4).

2. Classification of hypergeometric function

A. Confluent hypergeometric function

The Confluent hypergeometric function ${}_1F_1$ is defined as [2]

$${}_1F_1 \left(\begin{matrix} a \\ b \end{matrix}; z \right) = \sum_{n=0}^{\infty} \frac{(a)_n}{(b)_n} \frac{z^n}{n!} \quad (2.1)$$

Where $(a)_n$ is known as shifted factorial which is defined as

$$(a)_n = \begin{cases} 1 & n = 0 \\ a(a+1)(a+2)\dots(a+n-1) & n = 1, 2, 3, \dots \end{cases} \quad (2.2)$$

Remark: $(a)_n = \frac{\Gamma(a+n)}{\Gamma(a)}$ is in the form of gamma function.

B. Gauss hypergeometric function

The Gauss hypergeometric function ${}_2F_1$ is defined as [5]

$${}_2F_1\left(\begin{matrix} a, b \\ c \end{matrix}; z\right) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n} \frac{z^n}{n!} \quad (2.3)$$

C. Generalized hypergeometric function

The generalized hypergeometric function ${}_pF_q$ is defined as [1]

$${}_pF_q\left(\begin{matrix} a_1, a_2, a_3, \dots, a_p \\ b_1, b_2, b_3, \dots, b_q \end{matrix}; z\right) = \sum_{n=0}^{\infty} \frac{(a_1)_n (a_2)_n \dots (a_p)_n}{(b_1)_n (b_2)_n \dots (b_q)_n} \frac{z^n}{n!} \quad (2.4)$$

3. Confluent hypergeometric differential equation

Confluent hypergeometric differential equation is defined by the equation (1.1). By Frobenius method, let

$$w = \sum_{k=0}^{\infty} P_k z^{r+k} \quad (3.1)$$

is the solution of (1.1).

$$\frac{dw}{dz} = \sum_{k=0}^{\infty} P_k (r+k) z^{r+k-1} \quad (3.2)$$

$$\frac{d^2w}{dz^2} = \sum_{k=0}^{\infty} P_k (r+k)(r+k-1) z^{r+k-2} \quad (3.3)$$

Substituting the equations (3.1), (3.2), (3.3) in (1.1) we found

$$\begin{aligned} & z \sum_{k=0}^{\infty} P_k (r+k)(r+k-1) z^{r+k-2} \\ & + (b-z) \sum_{k=0}^{\infty} P_k (r+k) z^{r+k-1} - a \sum_{k=0}^{\infty} P_k z^{r+k} = 0 \\ \Rightarrow & P_0 r(r-1) z^{r-1} + \sum_{k=1}^{\infty} P_k (r+k)(r+k-1) z^{r+k-1} + b P_0 r z^{r-1} \\ & + b \sum_{k=1}^{\infty} P_k (r+k) z^{r+k-1} - \sum_{k=0}^{\infty} P_k (r+k) z^{r+k} - a \sum_{k=0}^{\infty} P_k z^{r+k} = 0 \\ \Rightarrow & P_0 [r(r-1) + rb] z^{r-1} + \sum_{k=0}^{\infty} [P_{k+1} (r+k+1)(r+k) \\ & + b P_{k+1} (r+k+1) - P_k (r+k) - a P_k] z^{r+k} = 0 \\ \Rightarrow & P_0 [r(r-1) + rb] z^{r-1} + \sum_{k=0}^{\infty} [P_{k+1} (r+k+1)(r+k+b) \\ & - P_k (r+k+a)] z^{r+k} = 0 \end{aligned} \quad (3.4)$$

Equation (3.4) being identity, we can equate to zero the coefficient of various power of z. Now equating to zero the coefficient of z^{r-1} then $P_0 [r(r-1) + rb] = 0$

$$\Rightarrow r = 0 \quad \text{or} \quad r = 1 - b \quad (3.5)$$

Now equating the coefficient of z^{r+k} then we obtain

$$P_{k+1} = \frac{(r+k+a)}{(r+k+1)(r+k+b)} P_k \quad (3.6)$$

On putting the values of $k = 0, 1, 2, 3, \dots$

$$P_1 = \frac{(r+a)}{(r+1)(r+b)} P_0$$

$$P_2 = \frac{(r+a+1)(r+a)}{(r+2)(r+1)(r+b+1)(r+b)} P_0$$

$$P_3 = \frac{(r+a+2)(r+a+1)(r+a)}{(r+3)(r+2)(r+1)(r+b+2)(r+b+1)(r+b)} P_0$$

On putting the values of P_1, P_2, P_3, \dots in equation (3.1) then

$$\begin{aligned} w &= P_0 z^r + \frac{(r+a)}{(r+1)(r+b)} P_0 z^{r+1} \\ &+ \frac{(r+a+1)(r+a)}{(r+2)(r+1)(r+b+1)(r+b)} P_0 z^{r+2} + \frac{(r+a+2)}{(r+3)(r+2)} \\ &\times \frac{(r+a+1)(r+a)}{(r+1)(r+b+2)(r+b+1)(r+b)} P_0 z^{r+3} + \dots \\ \Rightarrow w &= P_0 z^r \left[1 + \frac{(r+a)}{(r+1)(r+b)} z \right. \\ &+ \frac{(r+a+1)(r+a)}{(r+2)(r+1)(r+b+1)(r+b)} z^2 + \frac{(r+a+2)}{(r+3)(r+2)} \\ &\times \left. \frac{(r+a+1)(r+a)}{(r+1)(r+b+2)(r+b+1)(r+b)} z^3 + \dots \right] \end{aligned} \tag{3.7}$$

From virtue of (3.5), putting $r = 0$

$$\begin{aligned} \Rightarrow w &= P_0 \left[1 + \frac{a}{1b} z + \frac{a(a+1)}{1.2b(b+1)} z^2 \right. \\ &+ \left. \frac{a(a+1)(a+2)}{1.2.3b(b+1)(b+2)} z^3 + \dots \right] \end{aligned} \tag{3.8}$$

Setting $P_0 = 1$ then equation (3.8) becomes

$$\begin{aligned} w &= 1 + \frac{a}{b} z + \frac{a(a+1)}{1.2b(b+1)} z^2 + \frac{a(a+1)(a+2)}{1.2.3b(b+1)(b+2)} z^3 + \dots \\ w &= {}_1F_1(a; b; z) \end{aligned} \tag{3.9}$$

From equation (3.5) putting $r = 1 - b$ in equation (3.7)

$$\begin{aligned} w &= P_0 z^{1-b} \left[1 + \frac{(a-b+1)}{(2-b).1} z + \frac{(a-b+2)(a-b+1)}{(3-b)(2-b)1.2} z^2 \right. \\ &+ \left. \frac{(a-b+3)(a-b+2)(a-b+1)}{1.2.3(4-b)(3-b)(2-b)} z^3 + \dots \right] \end{aligned} \tag{3.10}$$

Again setting $P_0 = 1$ then (3.10) becomes

$$\Rightarrow w = z^{1-b} {}_1F_1(a-b+1; 2-b; z) \tag{3.11}$$

4. Gauss hypergeometric differential equation

Gauss hypergeometric differential equation is defined as equation (1.2). By Frobenius method, let

$$w = \sum_{k=0}^{\infty} P_k z^{r+k} \tag{4.1}$$

is the solution of (1.2).

$$\frac{dw}{dz} = \sum_{k=0}^{\infty} P_k (r+k) z^{r+k-1} \tag{4.2}$$

$$\frac{d^2w}{dz^2} = \sum_{k=0}^{\infty} P_k (r+k)(r+k-1) z^{r+k-2} \tag{4.3}$$

Substituting the equation (4.1), (4.2), (4.3) in equation (1.2)

$$\begin{aligned} \Rightarrow z(1-z) \sum_{k=0}^{\infty} P_k (r+k)(r+k-1) z^{r+k-2} \\ + \{c - (a+b+1)z\} \sum_{k=0}^{\infty} P_k (r+k) z^{r+k-1} - ab \sum_{k=0}^{\infty} P_k z^{r+k} = 0 \\ \Rightarrow P_0 r(r-1) z^{r-1} + \sum_{k=1}^{\infty} P_k (r+k)(r+k-1) z^{r+k-1} \\ - \sum_{k=0}^{\infty} P_k (r+k)(r+k-1) z^{r+k} + c P_0 r z^{r-1} \end{aligned}$$

$$+c \sum_{k=1}^{\infty} P_k (r+k) z^{r+k-1} - (a+b+1) \sum_{k=0}^{\infty} P_k (r+k) z^{r+k}$$

$$-ab \sum_{k=0}^{\infty} P_k z^{r+k} = 0$$

$$\Rightarrow P_0 [r(r-1)+rc] z^{r-1} + \sum_{k=0}^{\infty} [P_{k+1} \{(r+k+1)$$

$$\times (r+k+c)\} - P_k \{(r+k)(r+k-1)$$

$$+ (a+b+1)(r+k) + ab\}] = 0$$

(4.4)

Equation (4.4) being identity, we can equate to zero the coefficient of various power of z. Now equating to zero the coefficient of z^{r-1} then $P_0 [r(r-1)+rc] = 0$

$$\Rightarrow r = 0 \text{ or } r = 1 - c \quad (4.5)$$

Now equating the coefficient of z^{r+k} then we obtain

$$P_{k+1} = \frac{(r+k+a)(r+k+b)}{(r+k+1)(r+k+c)} P_k \quad (4.6)$$

On putting the values of $k = 0, 1, 2, 3, \dots$

$$P_1 = \frac{(r+a)(r+b)}{(r+1)(r+c)} P_0$$

$$P_2 = \frac{(r+a+1)(r+a)(r+b+1)(r+b)}{(r+2)(r+1)(r+c+1)(r+c)} P_0$$

$$P_3 = \frac{(r+a+2)(r+a+1)(r+a)}{(r+3)(r+2)(r+1)}$$

$$\times \frac{(r+b+2)(r+b+1)(r+b)}{(r+c+2)(r+c+1)(r+c)} P_0$$

On putting the values of P_1, P_2, P_3, \dots in equation (4.1) then

$$\Rightarrow w = \left[P_0 z^r + \frac{(r+a)(r+b)}{(r+1)(r+c)} P_0 z^{r+1} + \frac{(r+a+1)(r+a)(r+b+1)(r+b)}{(r+2)(r+1)(r+c+1)(r+c)} P_0 z^{r+2} + \frac{(r+a+2)(r+a+1)(r+a)}{(r+3)(r+2)(r+1)} \times \frac{(r+b+2)(r+b+1)(r+b)}{(r+c+2)(r+c+1)(r+c)} P_0 z^{r+3} + \dots \right]$$

$$\Rightarrow w = P_0 z^r \left[1 + \frac{(r+a)(r+b)}{(r+1)(r+c)} z + \frac{(r+a+1)(r+a)(r+b+1)(r+b)}{(r+2)(r+1)(r+c+1)(r+c)} z^2 + \frac{(r+a+2)(r+a+1)(r+a)}{(r+3)(r+2)(r+1)} \times \frac{(r+b+2)(r+b+1)(r+b)}{(r+c+2)(r+c+1)(r+c)} z^3 + \dots \right] \quad (4.7)$$

By virtue of (4.5) putting $r = 0$

$$\Rightarrow w = P_0 \left[1 + \frac{ab}{1.c} z + \frac{a(a+1)b(b+1)}{1.2c(c+1)} z^2 + \frac{a(a+1)(a+2)b(b+1)(b+2)}{1.2.3c(c+1)(c+2)} z^3 + \dots \right] \quad (4.8)$$

Setting $P_0 = 1$, then equation (4.8) becomes

$$\Rightarrow w = \left[1 + \frac{ab}{1.c} z + \frac{a(a+1)b(b+1)}{1.2c(c+1)} z^2 + \frac{a(a+1)(a+2)b(b+1)(b+2)}{1.2.3c(c+1)(c+2)} z^3 + \dots \right]$$

$$\Rightarrow w = {}_2F_1(a, b; c; z) \tag{4.9}$$

From equation (4.5), putting $r = 1 - c$ in equation (4.7)

$$\begin{aligned} \Rightarrow w = P_0 z^{1-c} & \left[1 + \frac{(a-c+1)(b-c+1)}{1.(2-c)} z \right. \\ & + \frac{(a-c+2)(a-c+1)(b-c+2)(b-c+1)}{1.2(2-c)(3-c)} z^2 \\ & + \frac{(a-c+3)(a-c+2)(a-c+1)}{1.2.3} \\ & \left. \times \frac{(b-c+3)(b-c+2)(b-c+1)}{(4-c)(3-c)(2-c)} z^3 + \dots \right] \end{aligned} \tag{4.10}$$

Again setting $P_0 = 1$ then (4.10) becomes

$$\Rightarrow w = z^{1-c} {}_2F_1(a-c+1, b-c+1; 2-c; z) \tag{4.11}$$

5. Differential equation for ${}_3F_2$ type function

Differential equation for ${}_3F_2$ type function is defined by equation (1.3). By Frobenius method, let

$$w = \sum_{k=0}^{\infty} P_k z^{r+k} \tag{5.1}$$

is the solution of (1.3)

$$\frac{dw}{dz} = \sum_{k=0}^{\infty} P_k (r+k) z^{r+k-1} \tag{5.2}$$

$$\frac{d^2w}{dz^2} = \sum_{k=0}^{\infty} P_k (r+k)(r+k-1) z^{r+k-2} \tag{5.3}$$

$$\frac{d^3w}{dz^3} = \sum_{k=0}^{\infty} P_k (r+k)(r+k-1)(r+k-2) z^{r+k-3} \tag{5.4}$$

Substituting the equations (5.1), (5.2), (5.3), (5.4) in equations (1.3)

$$\begin{aligned} \Rightarrow z^2 (1-z) \sum_{k=0}^{\infty} P_k (r+k)(r+k-1)(r+k-2) z^{r+k-3} \\ + [(b_1+b_2+1) - (a_1+a_2+a_3+3)z] \\ \times z \sum_{k=0}^{\infty} P_k (r+k)(r+k-1) z^{r+k-2} \\ + [b_1b_2 - (a_1a_2+a_2a_3+a_1a_3+a_1+a_2+a_3+1)z] \\ \times \sum_{k=0}^{\infty} P_k (r+k) z^{r+k-1} - a_1a_2a_3 \sum_{k=0}^{\infty} P_k z^{r+k} = 0 \\ \Rightarrow P_0 [r(r-1)(r-2) + (b_1+b_2+1)r(r-1) + b_1b_2r] \\ \times z^{r-1} + \sum_{k=0}^{\infty} P_{k+1} (r+k+1)(r+k)(r+k-1) z^{r+k} \\ - \sum_{k=0}^{\infty} P_k (r+k)(r+k-1)(r+k-2) z^{r+k} + (b_1+b_2+1) \\ \times \sum_{k=0}^{\infty} P_{k+1} (r+k+1)(r+k) z^{r+k} - (a_1+a_2+a_3+3) \\ \times \sum_{k=0}^{\infty} P_k (r+k)(r+k-1) z^{r+k} + b_1b_2 \sum_{k=0}^{\infty} P_{k+1} (r+k+1) z^{r+k} \\ - [(a_1a_2+a_2a_3+a_1a_3+a_1+a_2+a_3+1)z] \\ \times \sum_{k=0}^{\infty} P_k (r+k) z^{r+k} - a_1a_2a_3 \sum_{k=0}^{\infty} P_k z^{r+k} = 0 \\ \Rightarrow P_0 [r(r-1+b_1)(r-1+b_2)] \times z^{r-1} \end{aligned}$$

$$\begin{aligned}
 & + \sum_{k=0}^{\infty} \left[P_{k+1} \{ (r+k-1)(r+k)(r+k+1) \right. \\
 & + (1+b_1+b_2)(r+k)(r+k+1) + b_1b_2(r+k+1) \} \\
 & - P_k \{ (r+k-1)(r+k)(r+k-2) \\
 & + (a_1+a_2+a_3+3)(r+k-1)(r+k) \\
 & + (a_1a_2+a_2a_3+a_1a_3+a_1+a_2+a_3+1) \\
 & \left. \times (r+k) + a_1a_2a_3 \} \right] z^{r+k} = 0 \quad (5.5)
 \end{aligned}$$

Equation (5.5) being identity, we can equate to zero the coefficient of various power of z. Now equating to zero the coefficient of z^{r-1} then

$$P_0 [r(r-1+b_1)(r-1+b_2)] = 0$$

$\Rightarrow r=0, \quad r=1-b_1 \quad \text{and} \quad r=1-b_2$
(5.6)

Now equating the coefficient of z^{r+k} then we obtain

$$P_{k+1} = \frac{(r+k+a_1)(r+k+a_2)(r+k+a_3)}{(r+k+1)(r+k+b_1)(r+k+b_2)} P_k \quad (5.7)$$

On putting the values of $k = 0, 1, 2, 3, \dots$

$$\begin{aligned}
 P_1 &= \frac{(r+a_1)(r+a_2)(r+a_3)}{(r+1)(r+b_1)(r+b_2)} P_0 \\
 P_2 &= \frac{(r+a_1+1)(r+a_1)(r+a_2+1)}{(r+2)(r+1)(r+b_1+1)} \\
 & \times \frac{(r+a_2)(r+a_3+1)(r+a_3)}{(r+b_1)(r+b_2+1)(r+b_2)} P_0 \\
 P_3 &= \frac{(r+a_1+2)(r+a_1+1)(r+a_1)(r+a_2+2)}{(r+3)(r+2)(r+1)(r+b_1+2)(r+b_1+1)}
 \end{aligned}$$

$$\times \frac{(r+a_2+1)(r+a_2)(r+a_3+2)(r+a_3+1)(r+a_3)}{(r+b_1)(r+b_2+2)(r+b_2+1)(r+b_2)} P_0$$

On putting the values of P_1, P_2, P_3, \dots in equation (5.1) then

$$\Rightarrow w = P_0 z^r + \frac{(r+a_1)(r+a_2)(r+a_3)}{(r+1)(r+b_1)(r+b_2)} P_0 z^{r+1}$$

$$+ \frac{(r+a_1+1)(r+a_1)(r+a_2+1)(r+a_2)}{(r+2)(r+1)(r+b_1+1)(r+b_1)}$$

$$\times \frac{(r+a_3+1)(r+a_3)}{(r+b_2+1)(r+b_2)} P_0 z^{r+2} + \frac{(r+a_3+2)}{(r+3)}$$

$$\times \frac{(r+a_3+1)(r+a_3)(r+a_2+2)(r+a_2+1)}{(r+2)(r+1)(r+b_1+2)(r+b_1+1)}$$

$$\times \frac{(r+a_2)(r+a_1+2)(r+a_1+1)}{(r+b_1)(r+b_2+2)(r+b_2+1)}$$

$$\times \frac{(r+a_1)}{(r+b_2)} P_0 z^{r+3} + \dots$$

$$\Rightarrow w = P_0 z^r \left[1 + \frac{(r+a_1)(r+a_2)(r+a_3)}{(r+1)(r+b_1)(r+b_2)} z \right.$$

$$+ \frac{(r+a_1+1)(r+a_1)(r+a_2+1)(r+a_2)}{(r+2)(r+1)(r+b_1+1)(r+b_1)}$$

$$\times \frac{(r+a_3+1)(r+a_3)}{(r+b_2+1)(r+b_2)} z^2 + \frac{(r+a_3+2)}{(r+3)}$$

$$\times \frac{(r+a_3+1)(r+a_3)(r+a_2+2)(r+a_2+1)}{(r+2)(r+1)(r+b_1+2)(r+b_1+1)}$$

$$\times \frac{(r+a_2)(r+a_1+2)(r+a_1+1)}{(r+b_1)(r+b_2+2)(r+b_2+1)}$$

$$\times \left[\frac{(r+a_1)}{(r+b_2)} z^3 + \dots \right] \quad (5.8)$$

From virtue of (5.6), putting $r = 0$

$$\begin{aligned} \Rightarrow w = P_0 & \left[1 + \frac{a_1 a_2 a_3}{1.b_1 b_2} z + \frac{(a_1+1)a_1}{1.2} \right. \\ & \times \frac{(a_2+1)a_2(a_3+1)a_3}{(b_1+1)b_1(b_2+1)b_2} z^2 + \frac{(a_1+2)}{1.2.3} \\ & \times \frac{(a_1+1)a_1(a_2+2)(a_2+1)a_2}{(b_1+2)(b_1+1)b_1} \\ & \left. \times \frac{(a_3+2)(a_3+1)a_3}{(b_2+2)(b_2+1)b_2} z^3 + \dots \right] \quad (5.9) \end{aligned}$$

Setting $P_0 = 1$, then equation (5.9) becomes

$$\begin{aligned} \Rightarrow w = & \left[1 + \frac{a_1 a_2 a_3}{1.b_1 b_2} z + \frac{(a_1+1)a_1}{1.2} \right. \\ & \times \frac{(a_2+1)a_2(a_3+1)a_3}{(b_1+1)b_1(b_2+1)b_2} z^2 + \frac{(a_1+2)}{1.2.3} \\ & \times \frac{(a_1+1)a_1(a_2+2)(a_2+1)a_2}{(b_1+2)(b_1+1)b_1} \\ & \left. \times \frac{(a_3+2)(a_3+1)a_3}{(b_2+2)(b_2+1)b_2} z^3 + \dots \right] \\ \Rightarrow w = & {}_3F_2 \left(\begin{matrix} a_1, a_2, a_3 \\ b_1, b_2 \end{matrix}; z \right) \quad (5.10) \end{aligned}$$

From equation (5.6), putting $r = 1 - b_1$ in equation (5.8)

$$\begin{aligned} \Rightarrow w = P_0 z^{1-b_1} & \left[1 + \frac{(a_1-b_1+1)(a_2-b_1+1)(a_3-b_1+1)}{1.(2-b_1)(b_2-b_1+1)} z \right. \\ & + \frac{(a_1-b_1+2)(a_1-b_1+1)(a_2-b_1+2)}{1.2(3-b_1)(2-b_1)} \\ & \left. \times \frac{(a_2-b_1+1)(a_3-b_1+2)(a_3-b_1+1)}{(b_2-b_1+2)(b_2-b_1+1)} z^2 + \dots \right] \quad (5.11) \end{aligned}$$

Again setting $P_0 = 1$ then (5.11) becomes

$$w = z^{1-b_1} {}_3F_2 \left(\begin{matrix} a_1-b_1+1, a_2-b_1+1, a_3-b_1+1 \\ 2-b_1, b_2-b_1+1 \end{matrix}; z \right) \quad (5.12)$$

From equation (5.6), putting $r = 1 - b_2$ in equation (5.8)

$$\begin{aligned} \Rightarrow w = P_0 z^{1-b_2} & \left[1 + \frac{(a_1-b_2+1)(a_2-b_2+1)(a_3-b_2+1)}{1.(2-b_2)(b_1-b_2+1)} z \right. \\ & + \frac{(a_1-b_2+2)(a_1-b_2+1)(a_2-b_2+2)}{1.2(3-b_2)(2-b_2)} \\ & \left. \times \frac{(a_2-b_2+1)(a_3-b_2+2)(a_3-b_2+1)}{(b_1-b_2+2)(b_1-b_2+1)} z^2 + \dots \right] \quad (5.13) \end{aligned}$$

Again setting $P_0 = 1$ then (5.13) becomes

$$w = z^{1-b_2} {}_3F_2 \left(\begin{matrix} a_1-b_2+1, a_2-b_2+1, a_3-b_2+1 \\ 2-b_2, b_1-b_2+1 \end{matrix}; z \right) \quad (5.14)$$

6. CONCLUSION:

By Frobenius method, equation (1.1) gives (3.9) and (3.11) which is known as confluent hypergeometric function. Furthermore, equation (1.2) gives (4.9) and (4.11) which is known as Gauss hypergeometric function. By virtue of (1.4) differential equation is

obtained for ${}_3F_2$ type function and (5.10), (5.12) and (5.14) are the solutions of (1.3).

REFERENCES:

- [1] J. Choi, and A. K. Rathie, “New results for the series ${}_2F_1(x)$ with an Application,” Commun. Korean Math. Soc., 29(1), (2014),65-74.
- [2] A. Dixit, and V. H. Moll, “The integrals in Gradshteyn and Ryzhik. Part 28: The confluent hypergeometric function and Whittaker functions,” Scientia Series A: mathematical sciences, (2014), 1-13.
- [3] R. Yilmazer, M. Inc, F. Tchier and D. Baleanu, “Particular solutions of the Confluent hypergeometric differential equation by using the nabla fractional calculus operator,” Entropy, 18(49), (2016), 1-6.
- [4] Y-tong, Siu, “Differential equation of periods of Riemann surfaces (variation of Hodge structure of Riemann surfaces),” Math212b Spring, (2014), 1-8.
- [5] M. A. Rakha, A. K. Rathie, and P. Chopra, “ On some new contiguous Relations for Gauss hypergeometric function with application,” Computers And mathematics and with application, 61 (2011), 620-629.
- [6] NIST Handbook of Mathematical Functions, First Published (2010), Cambridge University Press, Cambridge, New York.
- [7] E. D. Rainville, “Special functions” Chelsia publishing company, New York.
- [8] functions.wolfram.com.